8 by 8 Kakuro Addition Puzzles

You can use the digits 1 to 9 to fill the empty cells so that the sum of each
horizontal block of cells equals the clue number on its left, and the sum of

each vertical block the number on top. Each digit can only be used once per
block!

41

N1 N 5
|1 N 2 5|
S 5 8 9
§ 3 | 4
ANE ANANE
M2 5 1
; : )
11 NN |2
N 3 N 2
12161113 7
’ 8 6
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Answers

You can use the digits 1 to 9 to fill the empty cells so that the sum of each
horizontal block of cells equals the clue number on its left, and the sum of

each vertical block the number on top. Each digit can only be used once per
block!

BB399D35128
71615 /8[4(9)2
| 4 86
N3 N5 6
112N 2 51
120501 13(8(79
‘1713 45
N 14 [N\ \]7]5
21713 15/419]1
13140421
1] 2 (NN N\ 42
N3 4]1(\]2
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